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L. 39 @RI 9 3Taga 7 Td [T 7T H-efgeT 327 & R ) 379 faf@e oder & fore smafa
o T 8 afe o) A9 o Tl e Y arerg afafSe @ & ar A & IER ST deaar

t Tt A o ? o ; ; :
You have been called for the written test based on the online data furnished by you in the web application. If you have

wrongly entered any information in the web or you do not possess the required qualification as per our advertisement
your candidature will be rejected.

2. oiETaTa & Aders i sufeafa & & snus gfa-feee X geaner = afiky)

~You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. RO, 80 AT § I WRA-GRFaH F A § AR www Hr a@fr 02 @2 g

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. WRATF IR A& v q@lr vfr IfRT 3reT 3NTAANR SeeR-gieaer & et

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. 9% YA Hfav 04 37 g 3N UAF AT 3ca} FAT UF 3F FHler AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer,
P.T.O
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1.
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13.

14.

15.

maﬁmﬁgﬁﬁmﬁgﬁrﬂﬁ}vﬁmm@m@m FUAHR FeaX Iiedant R FAfese Tare T

IEICHIRCIITAY
Question booklet series code (A/BICID/E) printed on the right hand top comer should be written in the OMR
answer sheet in the place provided.

mﬁ-@mﬁmmwwwml

Enter your Name and Roll Number correctly in the question booklet.

mmw-gﬁawﬁmﬂqﬁﬁtﬁ:hﬁﬁmrmﬁ%ﬁamw#ﬁﬁmml
Al entries in the OMR answer sheet should be with blue/black ball point pen only.

Wﬁwma@ﬁ@w%mﬁaﬁﬁmﬁﬁ%wmﬁmwﬁaﬁml

The questions will be objective type with four options out of which only one will be unambiguously correct.

M,W-Wﬁmm@2ﬁ$wﬂ,mmm%aﬁrmﬁﬂﬁmmm-
qfeceT 3 Hefta sifaer 1 316 Y FEY SeaT T TIA HEAT |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

T 9257 & ToIT 319 3cdx ITeld AT SiTea |

Multiple answers for a question will be regarded as wrong answer.

W@mmmmmm
ey, e JTfR ol Y arerAfer at & sl

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall. ;

qﬁwﬁﬁ:‘m MMW-mﬁmtmﬁﬁﬁmm@mwmﬁW
ﬁfrﬁﬁﬁhmﬂaﬁrqﬁrmwrm

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

a.gﬁ“amywaﬁmﬁqmwm%“l

The question booklet can be retained by the candidates.

qﬁm%ma&%ﬁhmymﬁﬁﬁqﬁmgmmﬁmﬁaﬁﬁl

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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deaTs — &t 3o gur w927 (@1®) BATET (1300)/Technician — B — Tool and

Die Maker (1300)
HPAAAT § — iR A& ElaVExtinguishing of fire does not include
(@ dRg aT/Starving (b) &ATel/Smothering
(c) 2MTSA/Cooling (d) dT9ei/Heating

AATaf@a & 1T 30H7¢6 e AAES A @rar &1
The fit specification 30H7g6 corresponds to following

(2) 99T 3maRa gomell/Hole basis system

(b) PUR TR 9OUTTell/Shaft basis system

(©) &YP & FA fdAT W IR gorer

The basis system depends on basic dimension of shaft

(d) B'Q?_ifﬁ-l' H ¥ F15 A€/None of the above

GG ﬁ?’:ﬁﬂ?af & o —— ofA &/Brass is an alloy consisting of
(2) drar aur f&a/Copper and Tin

(b) T TAT FAS/Copper and Zinc

(¢) G aur f&1/Zinc and Tin

(d) dTeT JAT Sgl/Copper and Iron

SE-AM 3cUIE PAATel Al eI Hgeaqor Areier Hu=wet|

The company which does mass production shall have following important strategy.

(a) TIeATcHS HHTTISA/Selective assembly
(b) 3TdaCedT /Interchangeability

© 3rfafaenre AN/ Massive machinery
(d) d¥8d {Gﬁ a2/ Large capital investment

AT FT gelige WoT ArAfa@d —— &1 gefod &aer gl
Pearlite stage of steel is laminated structure of the following.

(2) WUSC TqAT WA/ Ferrite and cementite

(b) 3TEEATSC/Austenite

(c) ‘}T{IBE'/F errite

(d) HA=CIST/Cementite

1300/16



10.

3tSIRT T @reRoTE: — 3 §ATC ST 8/Tools are generally made from:
(a) d8T dlg/Wrought iron

(b) g SEATA/Mild steel

(c) FET Hlee] STATA/Medium Carbon steel

(d) 3T FIe=T 3ETA/High Carbon steel

BT ATER # R &R A AR T S TgEar A P H AT FFHA
AT Bl

The following heat treatment method forms decreasing Carbon percentage along the thickness of

the specimen towards the core.

(a) EF@TUT/Carburizing (b) ATSEISSIhLVT/Nitriding

(¢) 3Na/Annealing | (d) SETHIEEROTNormalizing

F 2T F S 3R 30T afd F 3T F 99 {AT W H————— Fedl &l
The chip space between the back of one tooth and face of the following tooth is called

(a) Weld/Flute (b) ¥TUe/Land

(c) 3TATEY PIvI/Relief angle (@ Jer Fr W@/Gas depth

35T & FIU——— §/Radial rake angle is

(a) qifeifea/Positive (b) =I9IfEa/Negative

() YzI/Zero : (d) EQ'{SI:?H H FI5 Hl/Any of the above

Y FUT ueTd YR dr ogaed H, W HF ———F|

In rack and pinion type arrangement, rack have

(2) 9&Tid & @AW FSAM/Similar radius of that of pinion

(b) gsTa AR & 23T H#/Slightly smaller than of pinion gear
(c) U&Tid & §3l/Larger than pinion

(d) 33¥EH FTA/Infinite fadius

4 1300/16



11.

12

13.

14.

Mo T AfRdesT 32A46H8VH,A FIT Hohd Il &7

In the grinding wheel specification, 32A46H8V, what does A indicates?

(a)
(b)
©
(d)

39adf & YRR/ Type of abrasive
Ul HTh/Grain size
Aol & YFR/Type of grade

qéh &I cIIH YUH/Diameter range of wheel

FlT AT URE T 36 TEH &/ Which holding type is more accurate?

(2)

(b)

©
(d)

3 §e] Th/3 jaw chuck
4 g1 dh/4 jaw chuck
It G §T & FED &/Both are equally accurate

TEHAT AT & FR AR &/Accuracy depends upon work piece

o=l NN F T W DY, AR AT FATS I GRS T & SHA 3T

a}:ﬁvﬁa—mm%l

The address letter ‘D’ in CNC programming refers to tool length. It is used for

(2)

ATere &TfeIqicl/Work piece compensation

by 3R A FE aaﬁqjﬁfr ool length compensation

(©)
(d)

el ool Hﬁq‘f-UCutting speed compensation
HIS 32T T61/No purpose

Arafaf@a § Mo l9-°1 &/Pick odd man out

(2)
(®
©
(d)

Fest Sie #@AMTA/Abrasive jet machining
TAEA/Milling
STl Sic AL/ Water jet machining

s AN fH91/Ultrasonic machining
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15.

16.

1

18.

19,

20.

N e F TS ¥ ———— FT BISHT EATAd HIOT G ST Hehd g

With the combination of T square, following angles can be drawn except

(@ 15° (b) 25°
(c) 45° (d) 105°

Wgﬁrﬁﬂﬁwwﬁ%ﬁwﬁﬁusﬂmﬁaﬁmmww%
a1 9% U OT U & ST Hae SR @ T g AMET 8 7 F e ——

A device in which workpiece is held and located for specific operation in such a way that it will
guide one or more cutting tools to the same zone of machining is

(@) TSI (b) 3TeIeel/Fixture

(c) TATCIH/Tailstock (d) IsSeh/Bracket

CHITAS AT T PN ———— &/The thread angle in ACME threads is
(@ 290 (b) 30°

(c) 40° (@ 60°

T Fr et & Seaer & &A% FRUT o/The ability of metal to form into sheets is |

(a) {UTI/Plasticity (b) dIAN/Ductility
(c) YITEAAN/Elasticity (d) 3ITETdgEdar/Malleability

et & @ Plar IS THa 3ETsT SAFS &1 3UTET AT 87
Which of the following welding process uses non-consumable electrode?

(a) 3YF IR & aATes/Gas tungsten arc welding

by gRTEa LI 3T ﬁWIShielded metal arc welding

(€) CO,9™AT afe31/CO,; shielded welding

(d) e 3 afe59VGas metal arc welding

Waﬁaﬁwﬁﬂﬂﬁ,mﬂwmﬁﬁmﬁq&a@rm%?

The distance a screw thread advances axially in one turn is

(a) ©3/Lead (b) fa/Pitch
() goie/Tum (@ #FCrest
6 1300/16



21.

22.

23,

24.

23

T & 3ic] doararen 3R Mafad goal arg # [Jay Hearar Ig T 3 3R ¢

This is a solid shape that fits inside the mould and forms a hole in the cooled cast metal
(@) I Core (b) SRIEYCavity
(c) HTCUFI/Prototype (d) fdaT "a/Hole mould

9 Fel A SR areafas HT F FreR f 9w ggnr [RfAfEse amr @ B s
eI €

This is the total amount that the feature on the actual part is allowed to vary from what is specified

by dimension.

(a) ©c/Allowance (b) H&Idl/Tolerance
(c) WQH/Speciﬁcations ; (d) 3IR/Difference
golle Qe H—— E/Halon extinguishers contain

(a) IeleT CCIFERISS/Carbon tetrachloride

(b) amﬁﬂm?w HA/Bromochlorodifluro methane
(c) (2)d (b) EAI/Both (a) and (b)
(d) (a) AT (b) ST AGi/neither (a) or (b)

Afafaa & gea 9y %TIT:; i AT &/Which of the following is heaviest metal?

() UITAAIHA/Aluminium (b) ©3/Lead
(c) erEfag#/Titanium (d) TAT TIel/Stainless steel

fArfaf@a & & Fia-ar werd AT # g9 3T Fad ard F 3997 T &2

Which of the following material uses highest cutting speed in machining?

(a) TolTeecH/Plastic (b) CIAHTHA/Aluminium
(c) SHidAT/Bronze (d) S¥ATA/Steel

7 | 1300/16



2,

27.

28.

29.

T FT A8 S8 I H A BT F; A @, 3/ ———————Fed o

The diameter of thread at which the thread thickness is equal to one half of the pitch is termed as

(a) oY SITA/Minor diameter

(b) T =arE/Pitch diameter

(c) HET =IH/Major diameter

(d) W‘ﬁﬁﬁ qHA W?% #Ig1/None of the above

faav srena gumell § ———— /In hole basis system
(@ TR &1 HoT [=ele & T AT ST 8l

Fundamental deviation of the hole is taken as zero.

(b) U FH H{el [aeler HI g AT ST Gl
Fundamental deviation o'f the shaft is taken as zero.

© faav & 3R & W AR Hue 6 3R F 9Radt @r ST g
The size of the hole is kept constant and size of shaft is varied.

(d) (a) 3R (c) aAI/Both (2) and (c)

PIess GaRT AT Free A AMAG 6T ST &1 31T TG AR 7 FA-H 36
DIVT T GAWT FHE?

The carbide made workpiece need to be machined. What rake angle you will use in Lathe tool?
(@) uItSIed ¥F/Positive rake

(b) AT IF/Negative rake

{c) '%LF‘I I/ Zero rake

@ IREFT F ¥ B q o FAfRT S e §
Any of the above shall work

al Tolel & gogeaaeT H &R0T g FY Fald H & fav Heafafad yare= foar
ST &1

In order to provide leak proof joint in the assembly of two plates, following operation is done.
(@) GTERIY=T/Caulking (b) @id=A/Fullering

(©) (a) 3R (b) a=A/Both (a) and (b) (d) E‘{ﬁfr‘?f I ¥ HIS g1/None of the above

8 1300/16



al.

32

33.

ST H Hlee] Jided 961 W, FoRdT Hed

As the Carbon percentage increases in the steel, hardness value
(a) | qodr Lé*f‘lnc:reases

(b) ©TAT g/MDecreases

(c) fFUT I@aT &/Remains constant

(d) FleeT UTaRrd 9 A9 T8l ar §/Does not depend on Carbon percentage.

Ietel Sl & GRUTATE®Y AEaR It aoreet 37 aRade i &

Tempering operation results in change in mechanical properties as given below:

(a) ©IEHd delsd AT AR FSATReduced tensile strength and hardness

(b) 3G iR degar H E{'l?/lncreased toughness and ductility
(¢) (a) 3T (b) EAAI/Both (a) and (b)
(d) 3"4'{5377'?[ H q PIS Ael/None of the above

f@e=T SI=-3T &/Pick odd man out

(a) - I/Piercing (b) <Y=/Blanking

(c) WT=HN/Lancing (d) HHATSHTA/Trimming

HY-FATT & e, IO A —— ST ST %/In up-milling the workpiece is
brought

(a) o & q\U:IFl' r ﬁ?ﬁ #/In the direction of rotation of cutter

(b) @hcieh $T gueT @1 T & AIA/Against the direction of rotation of cutter
(¢) (a) 3R (b) a1 T B/Both (a) and (b) are possible

(d) 3TdFT F F FHI 7E/None of the above



34.

35

36.

37.

FeT & 2R YT ¥ 3uad F———— F FReRa har S a6 &
The lifting of workpiece while cutting is eliminated in

(@) 3H9-TATET/Up-milling

(b) SEA-TAEI/Down-milling

© (a) 3R (b) alAl/Both (a) and (b)

(d) 3’:‘_{5;% qHA Eﬁ'&‘f #AgI/None of the above

fAfeir 1 TATa S & AT 58T TREsST FHT Hgedqol g1 3T & FWIRT
N

For finish milling, the quality of surface finish is of course is very important. What do you
recommend? i

(@) ol #OT 3 3= Eh_r<1$ d9T/Light feed and high cutting speed
(b) Gohl HAIUT 3T 5= &% d9l/Light feed and low cutting speed
(¢) 3T #FIOT 3R =T Fae d91/High feed and low cutting speed
(d) 3ITa oRoT AR 3=A e d91/High feed and high cutting speed

STITeRS TRETAe UIRETHe @hie &/Which are the positive drive transmissions?
1. RRUGears

2. Ye/Chains

3. Soc/Belts

4.  TEHI/Ropes

(@) - 1 3R/and 2 (b) 13iR/and 3
(¢) 1,23 R/and 4 (@ 33iR/and 4

mm%ﬁagﬁﬁﬁﬁmﬁmm%%awwmmm%lﬁ
Cri s g— 0D 2 R AR IE TR

We know that, the limitation of helical gear is, they produce axial thrust on shaft. This is overcome
by using

(a) eReTele fra/Herringbone Gear (b) fade T3 /Bevel gear
() @rsuss at/Hypoid gear (d) IF/Rack

10 1300/16



38.

3%

40.

41.

ﬁﬁﬁ'gwaﬁaméswwaﬁ%mvﬁaﬁanﬁéﬁgwmm
3IHYTASSSAT FIOT FACTT 8, 3H ——— FEd &

The angle which common normal to the two teeth at the point of contact makes with the common
tangent to the two pitch diameters at pitch point is known as

(a) 3TATGT FIOT/Relief angle (b) &Td HIVT/Pressure angle
(c) & FIUI/Rake angle (d) 3HAXT FU/Clearance angle

FUH S HIOT W g At YAl 181, & ST & fav Reaefla & ¥ sl
Rl &1 ger fRar srar 82

Which of the following gears are used to connect shafts which are at an angle but not intersecting?
(a) S & ddeT TIYStraight tooth bevel gears

(b) T 9 FIRYSpiral bevel gears |

(c) wIsas PRy Spur gears

(d) gBuiss RR/Hypoid gears

YT & el alel HT 39— B/The use of cutting fluid in grinding is

(@) 3IcYed AT &l HABIe %?;/Remove the generated heat

(b) enfcas RO & o Rere= %Ho/Washes away metal chips

(c) a9 FEIRT FF Fr FORAT TT @A %@Maintains hardness of heat treated work
(d) 3udF FeM/All of the above

3 afess F R{eda %EIU]HT—?TT he reverse polarity in the arc welding is

() I saFIS Hiver & ifaifee 2ffeer & sherame
When electrode cable is connected to positive terminal

(b) 9 Solagls Hide H ANfea HAa & Jar sw
When electrode cable is connected to negative terminal
() 9 FeFIS Hider H #ger SHAT A SIgT A0
When electrode cable is connected to neutral terminal
(&) 3TgFT & FE o

None of the above.

11 1300/16



42.

43.

44,

45.

éﬁwﬁwﬂagaawwﬁw%mﬁﬁaﬁaﬁ%:

Dielectric fluid in EDM is not having following purpose:

(@)

(®)

(©)

(d)

sATeIE 3N FF & ST TP TRE FE H Werddr gar HET

Helps to initiate sparks between electrode and work

saFe)s 3R 1 & €9 U faega-uHr F A BT

Serves as insulator between electrode and work
soagE AR 1 & O ue s T FH HE
Acts as coolant for electrode and work

TIgE T H FLAl

Acts as lubricant

Wwﬁﬁ%mm%mmaﬁrmwmm%i

This is the theoretically exact size from which limits of size are determined

(a) dEAfdeE 3/ Actual size

(b) T&HA™T 3MPR/Dimensioned size

(c) 3cUrea 3TehIY/Production size

(d) FHef ATP/Basic size

R ¥ For & TR T §9 A ST &9
The most common geometric form used in gear manufacturing is
(a) Yidshgal SIHISel/Involute profile

(b) wHaferd YIHISa/Convolute profile

(c) HeT cIrd/Base diameter

@

IS eTd/Spur diameter

gl

Wa@amamﬂﬂﬁﬁwﬁaﬁmﬁﬁmﬁa—mmm%?

Which flame is suitable for welding of ferrous metals, copper and Aluminium?

(@)
(®)
(©)
(d

JFdieRe Faren/Oxidizing flame
FIETOT SaTe/Carburizing flame

3ETHIT Sarell/Neutral flame

3‘??_533*?{ # ¥ IS Ad/None of the above.

12
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46.

47.

48.

49.

I dave I afeser (@3nesh) & Hefafad gavrar ygad & s g

In gas tungsten arc welding (TIG) the following polarity is used.

(a) fasT am Fo] YAUTdT/Direct current straight polarity

(b) fesT ary IERTIGH %T:I'UHT/Direct current reverse polarity

(c) YIradl ORI 3T H]Hf_%f/Altemating current high frequency
(d) 3‘4’{533'_& F@H/ALl of the above

Teh HATATT 3RO & oo F &7 F fR@rs gam
Circle will appear on an isometric drawing as a/an

(2) &Egcd/Ellipse : (b) THT/Cycloid

() 9gcd/Circle (d) YIdetd/Parabola

IR H diee MY &I gfEvmacd # gAF o 98 THd & Sar g1 T T F &2

If T turn the bolt head clockwise, it gets tightened. Which is this thread?

(@)
(b)
(©
(d)

4T § FEHT AT TF Joad [z @1 Aefaf@a sy fife g

A free body suspended by string has total following degree of freedoms.

(2)
(b)
(©)
(d)

aT¢ A/Right hand threads
STU IF/Left hand threads
(a) T (b), P o THT &/Any of (a) and (b) is possible

BRG] AN eutral threads

3 TR/ translational + 3 EI"\U'ﬁ?HGTfrotational
9 T eranslational + 3 Hfﬁ?ﬂﬁ?/rotational
6 TATATAU S/ translational + 6 EI"\U'ﬁW/rotational
6 TATTTcT /translational + 3 El‘fﬂm/rotational

13
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50.

51.

SZ.

33.

Feafafed & T arR $3uA d@oT 70 ¢l
Wire EDM is not possible for the following:

(a) fa'c'.:g?[ TSI AT1e=/Electrically non-conductive workpiece
(b) Eas ﬂﬁﬁ's_s" SeAhl=icl/Titanium carbide, Inconel
(c) Ylellshecollel BRI, dTelh 8 F/Polycrystalline diamond, conductive ceramics

(d <o e, ﬂ@@‘%’ﬂﬁ grar, ATRISe/Tool steel, aluminium, copper, graphite.

TF FF T W 10 AT O & uE Ay B waiea R S gl e
YITeleT &7 39T fohar ST 82

A blind hole of diameter 10 mm to be drilled on work piece. Which operation shall be used?

(a) TR Hiad S8TH/Wire cut EDM (b) & E2TH/Conventional EDM
(c) ©YUY/Grinding (@) afesa/Welding

T A7 GACIET FY S5 AT ¥ FafRa 3y At & gaee & o,
SETEXONS e /3G, aF goie A —————— 2@ AT S

The operations associated with the machine for functions other than positioning or contouring

e.g. Coolant on/off, spindle rotation are given through
(a) TH FIZ/M codes (b) ST FIB/G codes
© (2) 3 (b) S=A/Both (a) and (b) (@) FT F F FE F/None of the above.

Wﬁﬁm&aﬁmaﬂﬁﬁmaﬁrw&?ﬁmﬁﬁ@umﬁmﬁ
9 HEAT3it @ gy Tha F 10 FHE dET F Qo fRar = 81 S 39T @
ngmmwﬁmmm

A Vernier caliper is designed in which 9 numbers of main scale divisions are divided into 10 equal
parts in Vernier scale. What is the least dimension measurable using this instrument?

(@ 0.02 &3 /mm (o) 0.01 A /mm
(c) 0.1 A /mm (@ 0.2 A /mm

14 1300/16



54.

35

56.

57.

uF 20 A cugarer Rfds &1 dEe AN @A¥, ATg Thol  Uiedie
60 . & el IR Fha @ 284l e HEd e & I A gl RAfesy &

While measuring the length of cylinder of Dia. 20 mm, main scale reading is 60 mm whereas g
division Vernier scale coincides with main scale. What is the length of cylinder?

(a) 60.56 TH.#T/mm (b) 60.28 .3 /mm
(¢) 28.6 A /mm (d) 20 F.#A/mm

MI10 x 1.5, Tafa&eearer @9l ¥ IS0 & fav, I & oy =4 aRSfad hifse
For ISO metric thread of specification, M10 x 1.5, calculate the minor diameter of the thread.
(@ 7.6 A /mm (b) 82 A AT /mm

©) 9.5 & A /mm ' (@ 10 &A /mm

20 3. FRrEre Ao MR F F9F & fav w7 @ 0 AR 21 Agshia § AR A
& & AR & AT o6 Far -7 aar —20 ABH g1 et qur fus & &g H;
HARFIA 3T FHT TAT FMT|

For basic size of shaft of diameter 20 mm, H7 limits are 0 and 21 microns and for hole of same
diameter, g6 limits are -7 and —20 microns. Find the maximum clearance between hole and shaft.

(a) 7 HATShisT/microns (b) 20 HTsafl'?i'/microns
(c) 28 ATSHIA/microns (d) 41 ATSHIA/microns

40 P =T R 100 FLA. T T g SO HUH A 0314 B, WY g swor
a%mmwaﬂawﬁmmg@,wmﬁmﬁmﬁmﬁw%i
W%ﬁvgﬁq‘wﬁﬂ%ﬁﬁﬁlmaﬂmxﬁqﬁﬁmnﬁl

A mild steel shaft of diameter 40 mm and 100 mm length has to be turned to diameter 30 mm in one
cut using HSS tool with feed rate of 0.314 mm per revolution. Determine the total time for the
operation. Assume the cutting speed as 30 m/min.

(@) 1 f&«C/min (b) 1.045 fA=Ic/mins
(c) 2.5 Aec/mins (d) 3 Ic/mins
15 : 1300/16



58.

2%

60.

61.

80 B eaTEaTer TS TN adF ¥ od &g &1 39 250 A der U w Ay
Brer T &1 T AT TS 5 A ¥ s wde &9 40 A vy e ¥ 3R aRon
q%aao.314ﬁ.zﬂ.§m‘m%|ﬁ%wmwwm|mmmmmw
AT H BIS Fhd ol

A milling cutter of 80 mm diameter has ten teeth. It is to mill a 250 mm length workpiece. Depth of
cut is 5 mm whereas cutting speed is 40 m/min and feed per tooth is 0.314 mm has been selected.
Determine milling time. You can neglect run over and run travel time.

(a) 37T fH=I¢/Half minute (b) TS [HAC/One minute
(¢) ar fAec/Two minutes (d) B'Q’{fiﬁﬁ # ¥ HIS F6/None of the above

ST T 3 360 N/mm? 30EHaH 39EI0T Sfdee & @y 2 A A e &
RIS T ST 3RS & UReerT & o AL IR @ 0.01 % WA enforel
S 3T e T TANT A gU 20 . cardare v F fAw d $9 (519)
=T fohd=T grem?

Find out the clearance in blanking operation over sheet of thickness 2 mm with maximum shear

stress of 360 N/mm?. Take machine constant equal to 0.01 for clearance calculation. Using this
clearance value, what shall be the blanking die diameter for a hole of diameter 20 mm?

(a) 19.76 . #T /mm (b) 20 AT /mm
(¢) 20.24 FHA /mm \ (d) 20.48 AT /mm

zﬁ.ﬁ.@wﬂ%ﬁtaﬁﬁaﬁéﬁr@dﬁqmmmmmwmtdﬁﬁ
$r GaTE 60 T &1 FrfISF o 800 N T AT & IUTR 210 GPa FHTeT |

Find the smallest diameter of the punch to pierce 2 mm mild steel sheet. The length of punch is
60 mm. Assume press force of 800 N and Youngs modulus 210 GPa.

(@) 1.15 & /mm (b) 2.3 AT /mm
(¢) 3.1 A/ mm (@ 3.56 A/ mm

ﬁvwwﬁgaﬁﬁsﬁm%f&vwmw,mm?%laﬁmww
TINT|

For a given single point cutting tool, rake angle is 15°, clearance angle is 5°. Find the wedge angle.

@ 70° (b) 110°
) 160° ) 200°
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62.

63.

64.

65.

66.

3L gfdeas aur 20 @& 7 g I9d TR ws &1 f9 s BeiRa a5t

Determine the pitch diameter of the gear wheel with module of 3 mm and 20 number of teeth.

(@) 6.66 . H /mm ) (b) 60 AT /mm
() 63 T .H /mm (d 120 A F A /mm

120 fA.AT & gaEETeard R 9.5 T gedr Reare dss fer o at €
ear i #Y)

Determine number of teeth on spur gear having pitch diameter equal to 120 mm and circular pitch

of 9.5 mm.
(a) 40 (b) 60
(c) 80 (d) 100

ST FT 152 3 T G PR % 20 2 #1 FEge s B W gl
Hieqd HEAT FT IReheld T

The helical gear have 20 teeth with helix angle of 15°. Calculate virtual number of teeth on

equivalent spur gear.

(@ 20 (b) 21
(© 22 (d) 24

7 RfAdRE M5 x 0.75 3. & AT 30 vdve 3mer #7 9Reas A

Calculate the tap drill size for thread specification, M5 x 0.75 mm

(@) 3.57#/mm ) 4.3 A /mm
(© 58 /mm (d 6.5 H A /mm

ST Seehiolet #lieT 3 kT s 10 A § 3R S s 5 §1 egEor
W%ﬁva@wﬁﬁmwwml

In pantograph engraving machine, the cutter diameter is 10 mm and pantograph ratio is 5. Find out

the tracer pin diameter for reduction operation. E
@ 1A /mm b)) 2 A A /mm
© 50 = /mm | @ 100 3 /mm
17 1300/16



67.

68.

69.

70.

ﬁmas%mmaﬁram?ms.l%m.ﬁmé?mﬂﬁmammo.sﬁaﬁra
ITE TIAT $T AT Rs. 1001 T Y 9T FT 9ar @End AR 1000 A 1 AT
foRar ST B

The cost of the component without jig is Rs. 1 and when the jig is used, cost comes down to Rs. 0.5.
Cost of standard tooling is Rs. 100. Find out the cost of jig if 1000 parts to be manufactured.

(a) Rs. 100 (b) Rs. 500
(c) Rs. 600 (d Rs. 1,000

ar AT dsew PR el & @ & gl 50 A &1 PR qur venia & P9 e
Fr 3eard 3:2 §| vatia # A R S

The distance between two mating spur gears axes is 50mm. The ratio of pitch diameters of gear and
pinion is 3:2. Determine the diameter of pinion.

(@ 20 A /mm | (b) 30 . /mm
(c) 40 A FH./mm (d) 60 A.FA /mm
JRr T v Red — & TAIT §/The symbol shown below is for

(a) AT Y&TI-HITN/First angle of projection
(b) cSlachr gag-sIvr/Second angle of projection

(¢) I YBI9-IoTThird angle of projection
)] El_cfﬁ' Y&I9-hI0T/Fourth angle of projection

TS HAGEAS P 3R 7/24 AT Y, ar a8 Fefafed @1 giRd X gl
Dlszaﬁm&mwmmmwmmLmﬁaﬁrmmﬁl

If a taper is specified as 7/24, then it indicates following. Assume D, and D; as smaller and larger
diameters of the taper and L as length of taper.

(@ Di=7,D,=24 (b) D;-D,=7,L=24
(¢) Di-D,=24,L=7 (d D;+D;=7,L=24
18 1300/16



71.

i

3.

74.

.7

W%Wﬁﬂwﬁwma?%vﬁmﬁﬁﬂﬂ,H@Hegddmaﬂch%?

To reduce the cutting force during blanking, which one is most recommended technique?
(a) ofiT & ATS FT ge=T/Reduce the thickness of sheet
(b) TUET (31F) X HUFYUT HIUT Y&l Hal/Provide shear angle on die

(c) YT WX HIEIUT HIUT Y&l FAT/Provide shear angle on punch

(d) =eleh T IHR TeTA/Reduce the size of the blank

2 . foar o Tes F WG, mm® F fraer 2

What is the volume of a sphere having radius 2 mm, in mm>?

@ 32n/3 (b) 16x/3
) 8xu/3 : @ 2x/3

FIF & Ued Y ofwrs 10 AT 1 & I’ew F gew oar {ot A sars F4r @eio
A length of the side of a cube is 10 mm. What is the length of the longest diagonal inside the cube?

(2 10 (b  10V2
() 10V3 _ @ 100

aawmnaﬁﬁvﬁmaﬁga;;ﬁﬁﬂtwm%ﬁ,

When a tool is set in lathe below the centre, the

(@) ¥ Y& FIoT FEar %’/top rake angle increases

(b) ?ﬁ'ﬁ' I FIOT "TAr g/top rake angle decreases

(0 0 Q?F ®IoT 7 gRade 785 grdl/top rake angle does not change
(@d) ¥ XF FroT TART @ Frar g/top rake angle becomes negative.

8"+ 2° &I Heq — F/The value of 8* + 26

@@ 2° (b) 2
(c) & (d) 2?
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2,3,517, 11,13 ﬂEﬂT ST 3Tl 96 —— £/The next term in the series 2,3,5,7,11,

13 is

@ 15 (b) 16

() 17 @ 19

M+ &7 IIgef ——— &/The volume of the sphere is

@ <0 (b) T3

(© @ (&) mr?

1 7T 9fd dpvg = —— fheliAewgel/l m/s = ———— km/hr
() 1000 - ) 107

() 18/5 (d 518

U §337aT T HTARE PO FHT I ——— £/Sum of the interior angles of a hexagon
is

(@) 360 f2a/deg (b) 180 f3ai/deg

(©) 540 f33M/deg (d) 720 f3/deg

UF 9 o 5 gef & 200 fraeiex #1 gff a7 1 39R 9 tSTAe O W AET S
%éﬁBZOWﬁgﬂ{ﬂaﬂmamaﬂtﬁmﬂmmm '

A bus covered a distance of 200 kms in 5 hours. If the bus travels with a uniform speed, how much

more time required to travel a total distance of 320 kms?
(@) 8 ETlhours (b) 3 EcT/hours

(¢) 5 E<T/hours (d) 1€¥eThour
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